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PA04SEC003 - Indian Economy

Total Marks: 70

Note: All questions carry equal marks.

Q. 1 What are the various indicators of the quality of population in an
economy? Discuss these indicators for the Indian Economy in detail.

OR
Q. 1 "The population policy of a country can succeed more if it based on

incentives rather than corrections." Discuss this statement with
reference to the population policy of India.

Q.2 What is Human Capital? What are the measures required to
improve and increase the Human Capital of India?

OR
Q. 2 Explain the occupational structure of India. What changes do you

suggest in the occupational structure, to solve the problem of
unemployment in India.

Q. 3 Bring out the importance of industrialization and discuss the growth
and problems of industrialization in India.

OR
Q. 3 What is disinvestment? Explain its impact on the Government,

labourers and the private sector in detail.

Q.4 Write a detailed note about land reforms in India since
independence. Why are land reforms important for agricultural
growth?

OR
Q.4 Critically examine the National Agricultural Policy - 2000.
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